Repetition week 46

Methods of Construction Confidence intervals

Inverting a test H,:0=6, H,:0# 0,

A(QO):{X:Xe RC}

C(x)={6,:xeA(6,)}

Inverting LRT

C(x)={6: A(x)=k]

Pivotal Quantity
The distribution of Q(X,0) is independent of 6.

C(x):{e: o, <F (t|¢9)£1-az}
Bayesian intervals

Credible sets.

P(0< 4|x) :j;z— O|x)io




An example

X,,... X, iid Poisson(1) =Y :ZH:Xi ~ Poisson(nA)
i=1

7(A)=gamma(«a,p)
7{/1 ian:xi = yj = gamma(owr y’n,BIB+1J which gives the 1- «

credibility interval

P(%Z(Z(Ha))% <A S%Z(Z(Ha))zj .

Which can be compared to the 1—« confidence interval.

1 1
Pl — »(2 a <AL —y(2 1)), |=1-
(an( y)l‘z A ZnZ( (y+ ))Zj ¢

Credibility reflects subjective beliefs about uncertainties updated
with the data.

Confidence intervals reflects uncertainty in the mechanism of
repeated experiments.

Consistent estimator

é(xl,...xn)—ie, V6.



